Name

Fact Fluency

Solve the problem using

HR

2.6

crack +he code

L. 9+2=

2.8 + 5=

3.4+ 3=

4 5+ 0=

5.3+ 3=

6.7+12=

/ 6+b=

How did The dlien pay for his coffee?
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8 + 2=

7+7=

5 + 3=

3+ 0=

4 + 6=

8 + 8=

2+ 2=
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addition. Flll In the lines at the bottom of the
sheet with the letters that match the answers to crack the code.

8

13 4

g

2.4 e's 7 H 861

Keep going
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Problem Solving

19 big crabs were in a rock pool. Some
little crabs came into the rock pool. Then
there were 30 crabs in the rock pool. How
many little crabs came into the rock pool?

crabs came into the rock pool.

Some children were building showmen in the ©)
park. After lunch 12 more children joined

them and then there were 33 children building
snowmen. How many children were building
snowmen before lunch?

_______ children were building showmen
before lunch

First in Math

# of stickers at the
begmnmg of the week

# of stickers at the end of
the week




